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1. Draw Mr. Slopes: f
Slope Man Positive, %
Negative, i
Undefined,
Zero
2. Calculate the “rate of a. Calculate the slope. Then b. Calculate the average rate of
slope change” write jon of the line. change (slope) between the
Z XY following points on a line.
. Xa Yl Xa vl—
*m”in ;\"/ (0, 4) & (-3, 10)
y=mx+b —
-I-I/-l--! h 0 msi?':i!-;\_g—‘-ﬂ‘:-h—;
Y2—N . Yo% -3-0 ~ 3
—xz - X1 * M= - 2‘
change iny ——L‘ z -:“' = +3 -
change in x ngh* b b -——E-J_L
: c. Calculate the slope. Give a d. Calculate the slope. Then
4154 labeled answer. write the equation of the line.
pun The intercepts are (0, 400) and
4, 0). \p
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3. Calculate the

Point where | a. Name the y-intercept
y-intercept graph crosses whon xX=0
y-axis x [o\ 1 2 4
y \ajl e | 21]o0
"b” in
y=mx+b
(0, b)
“starting point,
flat fee, initial
f&Il
4. Graph a y=mx+b a.Graph:y=--;.x+6 b. Graph: —4x + 2y = 12
linear function . Name slope & y-intercept.
1. Graph y- Name slope & y-intercept.
intercept (0,b) o4
2. Use slope
(m) to i
determine
next point(s) Bkl :
3. Connect
dots to draw a
line! ¥
_ - 4xF¥2y = b mM
"“"-—;; ?wh?;%% Fg Y Jelzix) to
L=ls =X (0, }gg—g;j,x, Y =L+
c.Graphx=-3 ~ d.Graph¥=4" ~ T
Name slope & y-intercept. Name slope & y-intercept.
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5. Convert from | Slope Ta.Soive for y, Determine the ~ by = 2x + @
standard to Intercept slope & y-intercept: 4x + 2y = 8 B r 4
slope intercept | Form: -
form yemesn | M2yl 21 Y-
- - ‘L r_—’—"/" *-4
Slope intercept | Standa - 9y = 4 kcants
form to Form: &% - _9:4__- \i s
standard form | Ax + By = C L 7 s -23+yY=4
el -
"A" in Ax y= 4-2X -
cannot be QR Yf——ZX*‘] TTLX—-)(.—:—A}
t rJ R Aliuns
i nega ve m’ .:_%— b: 4 R ” - 1
6.Writethe  [y=mx+b | a. Write the equation of the line | b. Write the equation of the ine
ﬁquaﬂonofa that has a slope of ~and | that contains the %1
ne contains the point (4,6). " | G2 2)and (2.9). | 4~
.‘;MX"'b ¥ s -0~ _,"8 ",‘L
R ==
=+
L = ':—%“’b = 2= —u—'?'):b‘—% ‘; .
b=-2+b AJ=-F+8) 27 4D ~27b |
c. Write the equation of the line | d. Write the equation of the line
that has a slope of 5and Wm the corresponds to the
y-intercept at (0, 3). table: N: 2 x4+
x)\/ Y, X'L - 3 —1)
J; my+b | X -26 518 11
= 5(0)+b 41210
>=slo) Yo vz
3=b h\“4"(:'b)_ 2.
T\—/’ 5 X o=%“‘)*" ,%2___
7. Determine | x-intercept(s): | a. Determine the x-intercept and | b. Determine the x-intercept and |
xandy -where the y-intercept. y-intercept.
intercepts graph crosses ' HHHE U
the x-axis T T
-where y=0 | 1 1
'(aio) i 4 T LT
vintercept(s); | T |
graph crosses T T
the y-axis il R
-where x=0 Lo)s) (—’)/ O_) Lor 'L) (»4,0)
440, D) \ \ l +._\

: v
y-inturegt znrm* jrinngt Atk




—— -

| 8. Determine

T'a. What are the x and y

"b. what are the x and ¥

' xandy intercepts for the equation Whmwh"
intercepts 2x + 3y = 48? by = 24?
without a graph. Ym*uufh' >0 parfeepit
2% 248 %ZZE 3x=14 li.’."
anforuptt %70 | y-inberceprs 170
B O+ 2y = 49 @:w) 0-uy=24 ﬁ
9. Creating & | Standard 2. Ed has $36 0 buypalnts ts and | b. Gail orders CDs for $8 each
Solving Form: plus 2 total shipping cost of $5.
Equations from |Ax+By=C | Jars $4each The | Write an equation to determine
a Word Problem | *Total brus\%areﬂeach Write an | the total cost of purchasing CDs.
*Two different | equation to determine the If Gail spent $53, how many CDs .
amounts combination of brushes and did she order? f
paint he can buy. If he buys 3 = @x +5
Slope jars of paint, how many brushes | \ Y=
Intercept can he buy? »
Form: £3=9x+8
y=mx+b Axvy = 3L -5 B
*Rate 5 48 = 8x
*Starting 4(3) roy g =
Amount/ One \Lr 2y =30
Time Fee 1y = 2A =X
N
10. Comparing | Determine a. Which function has the b. The table to the right shows
Linear Functions | what the slope | greater rate of shange and y- the distance (in meters) Runner
and y- intercept? b=3 A and Runner B ran at different
intercepts are (b) m=12 time intervals. Which runner has
and interpret | Function 1:y = 2x + 3 a faster average speed from 20
them in a real | Function 2: (0, 4),(1, 8),(2 12) [to3Tseconds? slepe
world context "—_‘/(nh *a¥2
before m= g~ 4 j-— 4 Time Runner A | Runner B
" = 0 0 0
GOmpENng -0 9 120 120
20 168 213
3” ater ¢lopes Funaho@ = = 5
7 432 A B
g’m arept = 4 2871068 281-213
- i raer Py 31-20
Jrcdvr Y-intorept: g1~ 20
funchin Z na 0.8 47 6
K 4233 I ogec N ogec
Runner A is fastesr
ot 0.6 meters
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